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YZBO =(C-REF(CO 1))*100/REF(CO 1)&gtD
=9.90 AND L=H[

STBO =(C-REF(CO 1))*100/REF(CO 1)&gt]
=9.90 AND L0 =H AND C=H[

XG0 REF(STBO 1) AND NOT(STB) AND L&gt[]
REF(HO 1) AND NOT(YZB)O
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XGO REF(CO 1)/REF(CO 2)&gt0

1.096 AND C&gtl]

REF(CO 1) AND L&gtO

REF(CO 1)0
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000 OREF(CO 1)&gt0
REF(CO 2)*1.098 AND REF(LO 1)&gtC]
REF(HO 2)0
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(0000000000000 XGO REF(OO 1)&gt0
REF(CC 1) AND REF(CO 1)/REF(CO 2)&lItD

1 AND C/REF(CO 1)&gt[]

=1.096 AND C=H[
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REF(C/REF(CO 1)&gt0

=1.095 AND C=HO 2) AND EVERY/(((C/REF(CO 1)&It0]
1.02 AND C/REF(CO 1)&gt0]

1)+(C/REF(CO 1)&gt0]

0.98 AND C/REF(CO 1)&lItD

1))0 2)0
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REF(CO 1)/REF(CO 2)&gt[]
1.096 AND O&gt[]

REF(CO 1) AND C&gt[]

O AND C/REF(CO 1)&lt[]
1.0300
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valuel ref((close-ref(closeld 1))/ref(closeld 1)*100&gtL]
=9.9500 1)[J
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